
Navigaton Bar is 100% wide and �xed to 
bottom left of the browser window? The 
height is based on the content.

Image should resize when the div it is 
inside of does
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2% 2% Secondary page content is 60% of entire 
window width and centered on the screen. 
It has a height that is based on it’s content. 
Full Border: solid, 1px, rgba(0,0,0,1).
There is also a border between the content 
on each side.
Middle Border: double, 4px, rgba(0,0,0,1).
It has a bottom padding of 15% and a top 
padding of .5%. 

Text is Red [rgba(255,0,0,1)] and Bold

Text is white[rgba(255,255,255,1)] and Bold

Text is Heading 1, white[rgba(255,255,255,1)]

Text is gray[rgba(215,215,215,1)]

White div is 100% of the screen width.

Black div is 100% of the screen width.




